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lnstruction : Answers should be written comptetety either in Engltsh
or Kannada.

SECTION - A

\, Answer any five sub-questions. Each sub-question carries 2 marks :

1. a) Give the meaning of simple average.

b) How range is calculated ?

c) lf Q, - 60.125, Qs = 62.6875 and Median = 61 .345,

find Bowley's coefficient of skewness.
- d) Give the meaning of outcome.

e) Why Fisher's index number is called "ideal" ?

0 lf N = 8 and ED2 = 40, find rank correlation co-etficient.

g) lf bo = 0.8 and bv* = 0.45, find r.

SECTION - B

(5x2=10)

Answer any three questions. Each question carries 4 marks : (3x4=12)

2. Form a frequency distribution from the following data by exclusive method taking
four as the width of the class :

10 17 15 22 11 't9 24 29 18

25 26 32 14 17 20 23 27 12

15 18 24 36 18 21 28 33 38

34 13 10 't6 20 22 29 19 91
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3. The followlng data is available for 10 innings ol T20 cricket of two teams :

Runs scored by RCB Runs scored by CSK
Mean

Variance 14400 15625

Correlation co-efficient between runs scored by RCB and runs scored

CSK = 0.36. Compute two regression equations. Also estimate the runs scored

by RCB when CSK scored 250 and runs scored by CSK when RCB scored

200 runs.

4. Calculate mean deviation (From mean) and its co-efficient :

Marks: 59 32 67 43 22 17 64 55 47 80 25

5. From a pack of 52 playing cards, a card is drawn at random. What is the
probability that it is either queen or ace ?

6. Construct consumer price index number for the following data by family budget

mothod,

Commodltles Unlts Unlts consumed ln 2015 Prlce per unlt (Rs.)
2015 2022

A Quintals 5 quintals 1200 2800
B Kg 25 kgs 20 35
c 20 litres 120 150
D 25 meters 50 65
E Unit 20 units 100 200

SECTION - C

Answer any thro6 questions. Each question carries 10 marks :

7. Compute the Mean, Median and Mode from the following data :

(3x10=30)

-2

I

Wages
(in Rs.)

100-200 200-300 300-400 400-500 500-600 600-700 700-800

No. of
workerg

2 10 16 32 10 I 2

2'.to 186

Litre
Meter
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Pearson,e 
coefficient of skew

9. Compute Fisher,s lded lndex Number.

10. ln a class of Sri Subhash Chandra Bose College a preparato
ry examination is

conducted for .t0 students in Mathematics and 'Statistics subjects. Calculatethe KarlPearson 's coetficient of correlati on (Take 40 in mathematics and 50 instatistics as assumed means

11. Weights (in kgs) of Brothers and Sisters of a particular locality is given below :

Welg hts of Brothers 40 48 52 68 72

Welghts of Sisters 20 24 28

a) Find the two regression equations.

b) Estimate Brother Weight when Sister Weight = 80 kgs.

c) Determine the value of coefficient of conelation through regression coefficients.

Kids rlami,

,terns 2021

2023

Price

eM rks nI Mathematlcs Marks Stallstlcs
45 35
70 90
65 70
30 40
90 95
40 40
50 60
75 80
85 80
60 50

36 52
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(1x8=8)

(5x2=10) ._
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SECTION _ D

Answer any one question' The question carries 8 marks :

12. a) Find Mode graPhicallY for the following frequency distribution :

class lnterval : 0-10 10-20 20-30 30-40 40-50 50-60

Frequ!nef:_ 5 8 12 7 5 3

OR

Singer Roll No. 1 2 3 4 5 6 7 I 9

Marks 4q 60. 72 62 56 40 39 52 30

Marks assigned by Rajeshkrishnan :

SInger Rol! No. 1 2 3 4 5 7 I I
62 65 70 38 84 60 32 31

ddd sd3.( aL!

OqDd- o
obdroaddos wd_{{rteri srudorr. EE wd-$dflZ sodrisb:
1. a) ddd dcndoo$ erdF oea.

b) 9erdo$dlded dod:&eotr:eO 
?

c) Qr = 60.125, e = 62.6875 a$d:tod)&aobo. " _

d) Et,:cddr" qdd cadr pea.

b) Two iudges Vijayaprakash and Rajeshkrishnan participated and assigned
-' 

ma*s in'a singing competition as under for 9 participants'

Marks assigned bY VijaYaPrakash :

You are required to indicate the degree of agreement about the taste in
:hs':s. between two judges according to Siearmen,;;;;i,';;r;;il;
co-etficient.

ai:{d= 61 .345, edd siFOddd t"dddrbmddd)

e) +dod doz*od doaf_oOe,, erddr,, oocb ad ddo$eDrbdd ?r) N = 8 ab6 :D, = ao, udd gero r*.r;;#;#X&6or.:0.g) b,, = 0.8 abdJ br, = 0.4s erdd,r, erib dod&6o9Jo.

6
Marks 78
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oqrdrl- ?l

oJndoaddo 3 Sdfed eruEorr. dE ddf a erodd$ : (3x4=12)

2. dCd drat^l$d dn&80$od drir dodnea aner. "adrdod, u{$ d{olrQ'dqdJaJJed'

.)@ddo_ doJDo&.

10 17 15 22 11 16 19 24 29 18

25 26 32 14 17 23 27 12

15 18 36 18 15 21 28 33 38

34 13 16 20 22 29 31

3. add: doddd T20 g8[,trd 1 0 idorieri dDbB €r ddndo.gd :

RCB d?r,d tuo*eddtt: CSK deAdineddCo

isoi0 210 186

es 14400 1562s

RCB de&d ddrlC ab* CSK rleld d$Jid ddred iddouo{ rbsood = 0.36. €{rl

add: d&$ol:so itueddcarlddldod:8oaooo. aarioS:e CSK 250 dd:1''ldQde:,oari

RCB rlead d$j'lCdldr* RCB 200 d$ICqde,$oad CSK riead d$;'iCQeoerDa)

dDa.

4. doado az3e;dodrQ(dc,Ddoouod) d:{ udd rbroodddldod:&aoo:o :

coddqt: 59 32 67 43 22 17 64 55 47 8o 25

5. qrJeufd 52 aejrid rboaOod, otada$looh t-od> aeSod:Qddo3:orb$d. erd) urd

er{;o ax" ernd:d doqid&eo$d Ddi?r?

-5

20 30

24

10 19 23
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6. €r ddnd dgodrleod drtuou uod:dro3: opdd d:nerd rgdd de9 dnulroddQ

dod)b6d)0,

ndbriqb +t3driS 2015 dO- erudofuoenrJd

+r3d7i$

r"odl gudd t3d
(&a.)

2015 2022

A E ot'Je, 5 touDc, 1200 2800

B dd 25 td 20 35

c Oe[3d 20 Oesd 120 150

D a)e8d 50 65

E E}E'U 20 dirrddst 100 200

oe,torl- n

ota{mddo 3 drfer{ eru$orr. $r ddf 10 uoddsiJ : (3x10=30)

7. dCnd *De0or:od dodq *qd rt * u*d:d dodoobdldod:&aooo :

8. ddrt peB&d dn&30$od d@do, rJd)d)d ioaio, aaie.:d EdDd $*
roerr &obddilrddd t"d rbrroodddldod)8oAobo :

gl3 SuroaldO$ *d.tt 0 1 2 3 4 5 6

$uloudC nodo 7 10 16 25 18 11 8

-6-

*nO
(d6.) 100-200 200-300 300-400 400-500 500-600 600-700 700-800

roOoFdd
2 10 16 32 10 I 2

25 a)eulo"

dorq
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9. 1ldo ecdd crddr noa{oddedo*ba$0.

attdd)
2021

dFer, Bd:aeo df,elo o{rl

A 300 150 4
B 50 10 90 6
C 48 50 5
D 120 60 100 2
E 60 20 105 3.5

10. 9e iDqDer aio$ tloer aeJedd uod: ddrleod>O_ rlsdd d:d; ioanua{ adobddO_
tO aogQrzieri {pdr::daa doed*oo:Qd#orb$d. ErefF &o6ood6f erdd id
3or^lo{d rbmaodddldodbaobo ( rb.dddo_ 40 ab& dosmra{do_ 50 uQenoead
dodoolDR dorlsdtsr).

I 1. e,o& Dard $dedd ndoed: $dJ ndoedoood do*S)4(ddddoJ ddd oedeDRd:

I

dr6dd codddo iosn-roid codri?d)0d
45 35

9070
7065
4030
9590
4040
6050
80
8085

60

7268524840idoeddddn
5236282420dJadidaedoo$d

a) add: idn{od:m iaoeddrarld$ dcd>aacoco'

;i ffiffiau* = ao d* eo;iiao-o,T-Y1y ecroz. d:ra'

.y 4rrdd.f rbmodriC droEd iaxouodd d:raodi#c;'dQnd odrorr'

2023

480

12

75
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a?Fd- a

oJndlcoddoe"oub$d;leru$ol ${ou8 uodrlsldldoood: (1x8=8)

12. a) ddd Oeadrd d>a*goood ud:d:d ioDnoo$d1d8J96Dn/deeD ddf,$ drraed

dod>&aooo:

CI: 0-10 20-30 30-40 40-50

F 5 8 12 7 5 3

erC-o

b) eqd:.gedlrrod& aaol:drod abQ oadeu" drdgor t od: rooj.:d {drod:o-
rorBar,d 9 {Qrded f#odod eroddCQoeB&ed.

Daodf{iaup trd& oea&d eroddsb:

mojldd daeodrd ioaJ, 1 2 3 5 6 7 8 9

coddct) 48 60 72 62 56 40 39 52 30

oader {dgr qrdcb oeacbd esodrls;b:

mo$dd dncodcd do{ 3 5 6 7 8 9

coddC) 62 78 65 70 38 84 60 32 31

rro$or abdr edd $esd daHouo{ rbroodd $ad aad:roo*of: erg&zSoO dcOdl
ngd: ee{rrodd ddad r{odd abqddl.ee&.

10-20 50-60

4

1 2 4


